Mathematica Aeterna, Vol. 4, 2014, no. 3, 231 - 237

Three classes of 3-Lie algebras

BAI Ruipu

College of Mathematics and Computer Science, Hebei University, Baoding, 071002, China email: bairuipu@hbu.cn

ZHANG Yinghua

College of Mathematics and Computer Science, Hebei University, Baoding, 071002, China

GAO Yansha

College of Mathematics and Computer Science, Hebei University, Baoding, 071002, China

Abstract

This paper studies three classes of 3-Lie algebras which are realized by bilinear functions on vector spaces. The solvability, nilpotency and metric structures of 3-Lie algebras are discussed. And structures of inner derivation algebras and derivation algebras are investigated. The results can be used in the realization of 3-Lie algebras.

Mathematics Subject Classification: 17B05, 17D99.

Keywords: 3-Lie algebra, realization, derivation.

1 Introduction

3-Lie algebras [1] are very important ternary algebraic system since the wide applications in many fields on mathematics, mathematical physics and string theory (cf. [2, 3]). In the papers [4, 5], the 3-Lie algebras are realized by Lie algebras, linear functions and cubic matrices. And in paper [6], three classes of 3-Lie algebras $(V, [, ,]_{f,\lambda})$ are constructed by bilinear functions f on a vector spaces V. In this paper we study the solvability, nilpotency and metric structures of the 3-Lie algebras $(V, [, ,]_{f,\lambda})$, and their derivation algebras.

In this paper we suppose that F is a field of characteristic zero. And the multiplications of basis vectors which are not listed in the multiplication table are assumed to be zero.

A 3-Lie algebra is a vector space L over a field F endowed with a 3-ary multi-linear skew-symmetric operation $[x_1, x_2, x_3]$ satisfying the 3-Jacobi identity

$$[[x_1, x_2, x_3], y_2, y_3] = \sum_{i=1}^{3} [x_1, \cdots, [x_i, y_2, y_3], \cdots, x_3], \ \forall x_1, x_2, x_3 \in L.$$
(1)

A derivation of a 3-Lie algebra L is a linear map $D: L \to L$, such that for any elements x_1, x_2, x_3 of L

$$D([x_1, x_2, x_3]) = \sum_{i=1}^{3} [x_1, \dots, D(x_i), \dots, x_3].$$
(2)

The set of all derivations of L is a subalgebra of Lie algebra gl(L). This subalgebra is called the derivation algebra of A, and is denoted by Der(L). The map $ad(x_1, x_2): L \to L$ defined by $ad(x_1, x_2)(x) = [x_1, x_2, x]$ for $x_1, x_2, x \in L$ is called a left multiplication. It follows from (2) that $ad(x_1, x_2)$ is a derivation. The set of all finite linear combinations of left multiplications is an ideal of Der(L) and is denoted by ad(L). Every element in ad(L) is by definition an inner derivation, and for $\forall x_1, x_2, y_1, y_2$ of L,

$$[ad(x_1, x_2), ad(y_1, y_2)] = ad([x_1, x_2, y_1], y_2) + ad(y_1, [x_1, x_2, y_2]).$$

A metric on a 3-Lie algebra L is a non-degenerate symmetric bilinear form $B: L \times L \to F$ satisfying

$$B([x, y, z], u) + B(z, [x, y, u]) = 0, \forall x, y, z, u \in L.$$
(3)

Lemma 1.1 ^[6] Let V be a linear space over a field F with $dimV = n \ge 6$, c be a fixed nonzero vector of V, $f, g, h: V \otimes V \to F, \lambda: V \otimes V \otimes V \longrightarrow F$. Define the 3-ary multiplication on V as follows: for arbitrary $x, y, z \in V$,

$$[x, y, z]_{f,\lambda} = f(y, z)x + g(z, x)y + h(x, y)z + \lambda(x, y, z)c.$$
(4)

Then $(V, [, ,]_{f,\lambda})$ is a 3-Lie algebra if and only if

(1) $c \in Kerf$, and f = g = h, f is a bilinear skew-symmetric form on V satisfying $f(x_2, x_3)x_1 + f(x_3, x_1)x_2 + f(x_1, x_2)x_3 \in Kerf, \forall x_1, x_2, x_3 \in V.$

(2) λ is a ternary linear skew-symmetric function on V and for arbitrary $x_1, x_2, x_3, y_2, y_3 \in V, \lambda \text{ satisfies}$

$$\begin{split} &\lambda([x_1, x_2, x_3]_{f+\lambda_c}, y_2, y_3) - \lambda(x_1, x_2, x_3)(f+\lambda_c)(y_2, y_3) \\ &= \lambda([x_1, x_2, x_3]_f, y_2, y_3) - \lambda([x_1, y_2, y_3]_f, x_2, x_3) - \lambda(x_1, [x_2, y_2, y_3]_f, x_3) \end{split}$$
 $-\lambda(x_1, x_2, [x_3, y_2, y_3]_f),$

where $\lambda_c(x,y) = \lambda(c,x,y)$, $[x_1, x_2, x_3]_f$ and $[x_1, x_2, x_3]_{f+\lambda_c}$ are defined as $[x, y, z]_f = f(y, z)x + g(z, x)y + h(x, y)z.$

Lemma 1.2 ^[6] Let $(V, [,]_{f,\lambda})$ be a 3-Lie algebra in Lemma 1.1 with a basis $\{z_1, \dots, z_n\}, n \ge 6$. If λ satisfies $= \lambda([x_1, x_2, x_3]_f, y_2, y_3)$ $= \lambda([x_1, y_2, y_3]_f, x_2, x_3) + \lambda(x_1, [x_2, y_2, y_3]_f, x_3) + \lambda(x_1, x_2, [x_3, y_2, y_3]_f)$ then $(V, [,]_{f,\lambda})$ is isomorphic to one and only one of the following: for every $\alpha \in F, \alpha \neq 0$, $(a)[z_1, z_2, z_3]_{f,\lambda} = \alpha z_3, [z_1, z_2, z_i]_{f,\lambda} = z_i, \quad 3 < i \le n;$ $(b)[z_1, z_2, z_3]_{f,\lambda} = \alpha z_3, \quad [z_1, z_2, z_4]_{f,\lambda} = z_4 + z_3, \quad [z_1, z_2, z_j]_{f,\lambda} = z_j, 5 \le j \le n;$ $(c)[z_1, z_2, z_3]_{f,\lambda} = 0, [z_1, z_2, z_i]_{f,\lambda} = z_i, \quad 3 < i \le n.$

2 Structures on 3-Lie Algebras $(V, [, ,]_{f,\lambda})$

In this section we first discuss the metric structures on the 3-Lie algebras $(V, [, ,]_{f,\lambda})$. For the simplicity, in the following the multiplication $[, ,]_{f,\lambda}$ is denoted by [, ,].

Theorem 2.1 There does not exist metric structures on the 3-Lie algebras in Lemma 1.2.

Proof. Let $B: V \times V \to F$ be a bilinear symmetric form on V which satisfies Eq (4). Then by Lemma 1.2, if $(V, [, ,]_{f,\lambda})$ is a 3-Lie algebra of the case (a), we have

$$\begin{split} B(z_3, z_1) &= B([z_1, z_2, z_3], z_1) = B(z_2, [z_3, z_1, z_1]) = 0, \\ B(z_3, z_2) &= B([z_3, z_1, z_2], z_2) = B(z_3, [z_1, z_2, z_2]) = 0, \\ B(z_3, z_3) &= B([z_1, z_2, z_3], z_3) = B(z_1, [z_2, z_3, z_3]) = 0, \\ B(z_3, z_j) &= B(z_3, [z_1, z_2, z_j]) = B(z_1, [z_2, z_3, z_j]) = 0, \ 4 \le j \le m, \end{split}$$

Therefore, $B(z_3, V) = 0$, that is, B is degenerated. Therefore, there does not exist metric structures on the 3-Lie algebra of the case (a).

By the similar discussion, there do not exist metric structures on the 3-Lie algebras of the case (b) and (c). The proof is completed.

Theorem 2.2 The 3-Lie algebras $(V, [, ,]_{f,\lambda})$ in Lemma 1.2 are two-step solvable, but non-nilpotent.

Proof. By Lemma 1.2, for the 3-Lie algebras of the cases (a) and (b), we have

$$V^{(1)} = [V, V, V] = \sum_{i=3}^{n} Fz_i, V^{(2)} = [V^{(1)}, V^{(1)}, V] = [\sum_{i=3}^{n} Fz_i, \sum_{i=3}^{n} Fz_i, V] = 0.$$

In the case (c),

$$V^{(1)} = [V, V, V] = \sum_{i=4}^{n} Fz_i, V^{(2)} = [V^{(1)}, V^{(1)}, V] = [\sum_{i=4}^{n} Fz_i, \sum_{i=4}^{n} Fz_i, V] = 0.$$

Therefore, the 3-Lie algebras are two-step solvable.

Since the left multiplication $ad(z_1, z_2)$ has the eigenvalue 1, $ad(z_1, z_2)$ is non-nilpotent. Therefore, the 3-Lie algebras in Lemma 1.2 are non-nilpotent. The proof is completed.

In the following we study the derivation algebras of 3-Lie algebras in Lemma 1.2. Let $D: V \to V$ be any derivation of V, and let the matrix form of D in the basis $\{z_1, \dots, z_n\}$ be $A = (a_{ij}), 1 \leq i, j \leq n$, that is, $D(z_i) = \sum_{j=1}^n a_{ij} z_j$. Then $D = \sum_{i,j=1}^n a_{ij} E_{ij}$, where E_{ij} is the matrix unit with the number 1 in the position i^{th} -row and j^{th} -column, $1 \leq i, j \leq n$.

Theorem 2.3 For 3-Lie algebras in Lemma 1.2, we have the following result:

1) If $(V, [, ,]_{f,\lambda})$ is the case (a), then dim ad(V) = 2n - 3 and

$$ad(V) = F\left(\alpha E_{33} + \sum_{k=4}^{n} E_{kk}\right) + \sum_{k=3}^{n} \left(FE_{1k} + FE_{2k}\right).$$
 (5)

2) If $(V, [, ,]_{f,\lambda})$ is the case (b), then dim ad(V) = 2n - 3 and

$$ad(V) = F\left(\alpha E_{33} + E_{43} + \sum_{k=3}^{n} E_{kk}\right) + \sum_{k=3}^{n} \left(FE_{1k} + FE_{2k}\right).$$
 (6)

3) If $(V, [, ,]_{f,\lambda})$ is the case (c), then dim ad(V) = 2n - 5 and

$$ad(V) = F\Big(\sum_{k=4}^{n} E_{kk}\Big) + \sum_{k=4}^{n} \Big(FE_{1k} + FE_{2k}\Big).$$
(7)

Proof. If $(V, [, ,]_{f,\lambda})$ is the case (a), by the direct computation by Lemma 1.2, the matrix form of left multiplications $ad(z_i, z_j)$ are as follows:

$$ad(z_1, z_2) = \alpha E_{33} + \sum_{k=4}^{n} E_{kk}, ad(z_1, z_3) = -\alpha E_{23}, ad(z_1, z_k) = -E_{2k}, 4 \le k \le n,$$
$$ad(z_2, z_3) = \alpha E_{13}, ad(z_2, z_k) = E_{1k}, 4 \le k \le n.$$

Therefore, $\{ad(z_1, z_k), ad(z_2, z_l), 2 \le k \le n, 3 \le l \le n\}$ is a basis of ad(V), we obtain Eq.(5) and dim ad(V) = 2n - 3.

If $(V, [, ,]_{f,\lambda})$ is the case (a), by Lemma 1.2, the matrix form of left multiplications $ad(z_i, z_j)$ are as follows:

$$ad(z_1, z_2) = \alpha E_{33} + E_{43} + \sum_{k=4}^{n} E_{kk}, ad(z_1, z_3) = -\alpha E_{23}, ad(z_1, z_4) = -E_{24} - E_{23},$$
$$ad(z_1, z_k) = -E_{2k}, 5 \le k \le n, ad(z_2, z_3) = \alpha E_{13}, ad(z_2, z_4) = E_{14} + E_{13},$$

Three classes of 3-Lie algebras

$$ad(z_2, z_k) = E_{1k}, 5 \le k \le n.$$

Therefore, $\{ad(z_1, z_k), ad(z_2, z_l), 2 \le k \le n, 3 \le l \le n\}$ is a basis of ad(V), we obtain Eq.(6) and dim ad(V) = 2n - 3.

f $(V, [,]_{f,\lambda})$ is the case (c), by Lemma 1.2,

$$ad(z_1, z_2) = \sum_{k=4}^{n} E_{kk}, ad(z_1, z_k) = -E_{2k}, ad(z_2, z_k) = E_{1k}, 4 \le k \le n.$$

Therefore, $\{ad(z_1, z_k), ad(z_2, z_j), 2 \le k \le n, 3 \ne k, 4 \le j \le n\}$ is a basis of ad(V), we obtain Eq.(7) and dim ad(V) = 2n - 5. The proof is completed.

Theorem 2.4 For 3-Lie algebras in Lemma 1.2, the derivation algebras are as follows:

1) For the case (a), if
$$\alpha = 1$$
, dim $Der(V) = n^2 - 2n + 3$,
 $Der(V) = F(E_{11} - E_{22}) + \sum_{k=2}^{n} FE_{1k} + \sum_{k \neq 2, k=1}^{n} FE_{2k} + \sum_{j,k=3}^{n} FE_{jk}$.
If $\alpha \neq 1$, dim $Der(V) = n^2 - 4n + 8$,
 $Der(V) = F(E_{11} - E_{22}) + \sum_{k=2}^{n} FE_{1k} + \sum_{k \neq 2, k=1}^{n} FE_{2k} + \sum_{j,k=4}^{n} FE_{jk}$.
2) For the case (b), dim $Der(V) = n^2 - 5n + 13$,
 $Der(V) = F(E_{11} - E_{22}) + \sum_{j=2}^{n} FE_{1j} + \sum_{j \neq 2, j=1}^{n} FE_{2j} + F(E_{33} + E_{44})$
 $+F(E_{43} + (\alpha - 1)E_{44}) + \sum_{j=5}^{n} F(E_{j3} + (1 - \alpha)E_{j4}) + \sum_{j,k=5}^{n} FE_{jk}$.
3) For the case (c), dim $Der(V) = n^2 - 4n + 11$,
 $Der(V) = F(E_{11} - E_{22}) + \sum_{k=2}^{n} FE_{1k} + \sum_{k \neq 2, k=1}^{n} FE_{2k} + \sum_{k=1}^{3} FE_{3k} + \sum_{j,k=4}^{n} FE_{jk}$.

Proof. If $(V, [, ,]_{f,\lambda})$ is the case (a), by Lemma 1.2 and $D([z_1, z_2, z_3]) =$ $[D(z_1), z_2, z_3] + [z_1, D(z_2), z_3] + [z_1, z_2, D(z_3)] = \alpha D(z_3)$, we have

$$\alpha \sum_{k=1}^{n} a_{3k} z_k = \alpha (a_{11} + a_{22} + a_{33}) z_3 + \sum_{k=4}^{n} a_{3k} z_k,$$

then we have

 $a_{31} = a_{32} = a_{11} + a_{22} = 0, \alpha a_{3k} = a_{3k}, 4 \le k \le n.$ From $D([z_1, z_2, z_j]) = [D(z_1), z_2, z_j] + [z_1, D(z_2), z_j] + [z_1, z_2, D(z_j)] = D(z_j),$ for $4 \leq j \leq n$, we have

 $\sum_{k=1}^{n} a_{jk} z_k = (a_{11} + a_{22} + \alpha a_{j3}) z_3 + \sum_{k=4}^{n} a_{jk} z_k,$ then we have $a_{j1} = a_{j2} = 0$, $a_{11} + a_{22} + (\alpha - 1)a_{j3} = 0$, $4 \le j \le n$.

Summarizing above discussions, we have the matrix form of D is in the case $\alpha = 1$,

$$D = a_{11}(E_{11} - E_{22}) + a_{12}E_{12} + a_{21}E_{21} + \sum_{k=3}^{n} (a_{1k}E_{1k} + a_{2k}E_{2k}) + \sum_{j,k=3}^{n} a_{jk}E_{jk}.$$

In the case $\alpha \neq 1$, $D = a_{11}(E_{11} - E_{22}) + a_{12}E_{12} + a_{21}E_{21} + \sum_{k=3}^{n} (a_{1k}E_{1k} + a_{2k}E_{2k}) + \sum_{j,k=4}^{n} a_{jk}E_{jk}$. The result 1) is follows. If $(V, [,,]_{f,\lambda})$ is the case (b), from $D([z_1, z_2, z_3]) = \alpha D(z_3)$, we have $\alpha \sum_{k=1}^{n} a_{3k}z_k = (\alpha a_{11} + \alpha a_{22} + \alpha a_{33} + a_{34})z_3 + \sum_{k=4}^{n} a_{3k}z_k$,

then $a_{31} = a_{32} = \alpha(a_{11} + a_{22}) + a_{34} = 0, \alpha a_{3k} = a_{3k}, 4 \le k \le n.$ Since $D([z_1, z_2, z_4]) = D(z_3 + z_4)$, we get

$$(a_{11} + a_{22} + a_{44})(z_4 + z_3) + \alpha a_{43}z_3 + \sum_{k=5}^n a_{4k}z_k = \sum_{k=1}^n (a_{4k} + a_{3k})z_k.$$

Then we have $a_{41} = a_{42} = 0$, $a_{11} + a_{22} + a_{44} = a_{44} + a_{34}$, $a_{3k} = 0, 5 \le k \le n$, $a_{11} + a_{22} + a_{44} + \alpha a_{43} = a_{43} + a_{33}$.

From $D([z_1, z_2, z_j]) = D(z_j)$, for $5 \le j \le n$, we have

$$\sum_{k=1}^{n} a_{jk} z_k = (a_{11} + a_{22}) z_j + (\alpha a_{j3} + a_{j4}) z_3 + \sum_{k=4}^{n} a_{jk} z_k.$$

Summarizing above discussions, we have

$$a_{11} + a_{22} = 0, a_{j1} = a_{j2} = a_{3k} = 0, 4 \le k \le n, 3 \le j \le n;$$

$$a_{44} + (\alpha - 1)a_{43} = a_{33}, a_{j4} = (1 - \alpha)a_{j3}, 5 \le j \le n.$$

$$D = a_{11}(E_{11} - E_{22}) + \sum_{j=2}^{n} a_{1j}E_{1j} + \sum_{j \ne 2, j=1}^{n} a_{2j}E_{2j} + a_{33}(E_{33} + E_{44})$$

$$+a_{43}(E_{43} + (\alpha - 1)E_{44}) + \sum_{j=5}^{n} a_{j3}(E_{j3} + (1 - \alpha)E_{j4}) + \sum_{j,k=5}^{n} a_{jk}E_{jk}.$$

The result 2) is follows.
By the completely similar discussions to above, for the case (c),

 $D = a_{11}(E_{11} - E_{22}) + \sum_{k=2}^{n} a_{1k}E_{1k} + \sum_{k \neq 2, k=1}^{n} a_{2k}E_{2k} + \sum_{k=1}^{3} a_{3k}E_{3k} + \sum_{j,k=4}^{n} a_{jk}E_{jk}.$ The proof is completed.

ACKNOWLEDGEMENT. This research is supported by NSF of China (11371245).

References

- [1] V. FILIPPOV, n-Lie algebras, Sib. Mat. Zh., 1985, 26 (6), 126-140.
- [2] P. HO, R. HOU R, and Y. MATSUO, Lie 3-algebra and multiple M_{2} -branes [J], arXiv: 0804.2110.

- J. BAGGER and N. LAMBERT, Modeling multiple M2s, Phys. Rev. D75(2007) 045020 [hep-th/0611108]; Gauge symmetry and supersymmetry of multipleM2-branes, *Phys. Rev.* D77 (2008) 065008 [arXiv:0711.0955]; Comments on multiple M2-branes, *JHEP* 02(2008) 105 [arXiv:0712.3738].
- [4] R. BAI, C. BAI and J. WANG, Realizations of 3-Lie algebras, J. Math. Phys., 51, 063505 (2010). 475206.
- [5] R. BAI, Q. LI, R. CHENG, 3-Lie algebras and cubic matrices, *Mathematica Aeterna*, 2014, 4(1), 169-174.
- [6] R. BAI, J. LI, H. ZHOU, Realizations of 3-Lie algebras by multiple functions, Archimedes J. Math., 2013, 3(2), 119-127.

Received: March, 2014